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1) From her home Prerna wishes to go to school. From 
home she goes toward North and then turns left and 
then turns right, and finally she turns left and reaches 
school.  In  which  direction her  school  is  situated  with 
respect to her home ? 
a) South – East  b) North– West 
c) North – East  d) South – West 
 
2)  Roopa  starts  from  a  point  and  walks  15  metre 
towards west, turns left and walks 12 metre, turns right 
again  and  walks.  What  is  the  direction  she  is  now 
facing? 
a) East   b) West 
c) South  d) North 
 
3) A dog run 20m towards East and Turns to right runs 
10m and turns to right runs 10m and again turns to left 
run 5m and then turns to left runs 12m and finally turns 
to left and runs 5m . Now which direction cat facing? 
a) northb) south c) west 
d) east    e) None of these 
 
4)  Kate  walks  4  km  towards  South.  She  then  turns 
towards her left and walks 8 km more. After that she 
turns  left  again  and  walks  another  8  km.  Here,  she 
meets her friend coming from the opposite direction 
and they both stop here. Which direction would she be 
facing ? 
a) East   b) North  
c) South  d) West 
 
5) Eight people A, B, C, D, E, F, G and H are seated as 
shown in the figure. All are facing outwards. If A and B 
interchange their places with each and D and H 
interchange  their  places  with  each  other  then  which 
one of the following statements is not correct ? 
a) G is facing West b) H is facing South–East 
c) B is facing North d) A is facing North–West 
 
6)  Ashok  went  8  kms  South  and  turned  West  and 
walked  3  kms,  again  he  turned  North  and  walked  5 

kms. He took a final turn to East and walked 3 kms. In 
which direction was Ashok from the starting point ? 
a) West   b) North 
c) East   d) South 
 
7) Ramesh walks 2 km to west and turns to his right and 
walks 3 km and turns right and walks 2 km and finally 
turns to his right. Which direction is he facing ? 
a) North  b) West 
c) East   d) South 
 
8) Ram walks 10 m South his house, turns left and walks 
25 m, again turns left and walks 40 m, then turn right 
and walks 5 m to reach his school. In which direction is 
the school from his house ? 
a) North-east  b) North c) East 
d) South-west  e) None of these 
 
9) A rat run 20' towards East and turns to right runs 10', 
and turns to right runs 9', and again turns to left runs 5' 
and then turns to left runs 12' and finally turns to left 
and runs 6'. Now what direction is the rat facing ? 
a) WEST  b) NORTH 
c) EAST   d) SOUTH 
 
10) A and B start from a point simultaneously. A moves 
to his East and travels 2 km, and B moves to his south 
and travels 2 km. A takes turn 90° clockwise and travels 
2 km. B takes left turn 90° anticlockwise and travels 2 
km.  Where  would  they  be  found  from  the  starting 
point? 
a) A in East and B in North region 
b) Both in East region 
c) Both in South – East region 
d) A in south and B in North region 
 
11) Ravi is walking in the East direction. After covering 
a distance of one kilometre, he turns 45° left and then 
90° right. In which direction is he now? 
a) North–West  b) West 
c) North–East  d) North 
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12) If A is to the south of B and C is to the east of B, in 
which direction is A with respect to C? 
a) South-west  b) North-west 
c) North-east  d) South-east 
 
13) At dusk, Rohit started walking facing the sun. After 
a while, he met his friend and both turned to their left. 
They halted for a while and started moving by turning 
again to their right. Finally Rohit waved ‘good bye’ to 
his  friend  and  took  a  left  turn  at  a  corner.  At  which 
direction is Rohit moving now ? 
a) North  b) South 
c) West   d) East 
 
14) Eight people A, B, C, D, E, F, G and H are placed as 
shown  in  the  diagram.  All  are  facing  in  the  outward 
direction.  If  all  of  them  move  anticlockwise  to  three 
places then. A E F G H B C D N 
a) H is facing North–West  
b) B is facing West 
c) E is facing East   
d) A is facing South 
 
15) Kamu walks 5 kms straight from her house towards 
west then turns right and walks 3 kms. There-after she 
takes left turn and walks 2 km. Further, she turns left 
and  walks  3  km.  Finally,  she  turns  right  and  walks  3 
kms. In what direction she is now from her house? 
a) South  b) North 
c) West   d) East 
 
11) Ravi is walking in the East direction. After covering 
a distance of one kilometre, he turns 45° left and then 
90° right. In which direction is he now? 
a) North–West  b) West 
c) North–East  d) North 
 
12) If A is to the south of B and C is to the east of B, in 
which direction is A with respect to C? 
a) South-west  b) North-west 
c) North-east  d) South-east 
 

13) At dusk, Rohit started walking facing the sun. After 
a while, he met his friend and both turned to their left. 
They halted for a while and started moving by turning 
again to their right. Finally Rohit waved ‘good bye’ to 
his  friend  and  took  a  left  turn  at  a  corner.  At  which 
direction is Rohit moving now ? 
a) North  b) South 
c) West   d) East 
 
14) Eight people A, B, C, D, E, F, G and H are placed as 
shown  in  the  diagram.  All  are  facing  in  the  outward 
direction.  If  all  of  them  move  anticlockwise  to  three 
places then. A E F G H B C D N 
a) H is facing North–West  
b) B is facing West 
c) E is facing East   
d) A is facing South 
 
15) Kamu walks 5 kms straight from her house towards 
west then turns right and walks 3 kms. There-after she 
takes left turn and walks 2 km. Further, she turns left 
and  walks  3  km.  Finally,  she  turns  right  and  walks  3 
kms. In what direction she is now from her house? 
a) South  b) North 
c) West   d) East 
 
21) A is 40 m South-west of B. C is 40 m South-east of 
B. Then, C is in which direction of A? 
a) South  b) West 
c) East   d) North-east 
 
22) A man walks 4km to the east turns left walks 4km 
and  turns  left  and  walks  4km.  Which  direction  is  he 
facing? 
a) West   b) East 
c) South  d) North 
 
23) Neha starts walking in a direction then she took a 
left turn and after walking some distance he took right 
turn.  After  walking  for  some  distance  she  took  two 
consecutive right turn and finally a left turn. Now if she 
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is  walking in north  direction, in  which direction it 
starts? 
a) south b) north c) east   
d) west  e) None of these 
 
24) You go North, turn right, then right again and then 
go to the left. In which direction are you now? 
a) West   b) East 
c) South  d) North 
 
25)  A  man  is  facing  north-west.  He  turns  90°  in  the 
clockwise direction and then 135° in the anticlockwise 
direction. Which direction is he facing now? 
a) South  b) West 
c) East   d) North 
 
26)  Shyam was  facing  East.  He  walked  5 km  forward 
and then after turning to his right walked 3 km. Again 
he turned to his right and walked 4 kms. After this he 
turned back. Which direction was he facing at that time 
? 
a) North  b) West 
c) East   d) South 
 
27) Ravi in his evening walk travelled towards the sun 
3 km, then he turned to his left walked 2 km. He again 
turned to his right and walked 3 km. Finally, he turned 
to his right walked another 2 km. In which direction is 
Ravi walking now? 
a) North  b) West 
c) East   d) South 
 
28) At dusk, Rohit started walking facing the sun. After 
a while, he met his friend and both turned to their left. 
They halted for a while and started moving by turning 
again to their right. Finally Rohit waved ‘good bye’ to 
his  friend  and  took  a  left  turn  at  a  corner.  At  which 
direction is Rohit moving now ? 
a) North  b) South 
c) West   d) East 
 

29) I  am facing West.  I  turn 45° in the clockwise 
direction and then 180° in the same direction and then 
270° anti-clockwise. which direction am facing now ? 
a) South  b) North-west 
c) West   d) South-West 
e) East 
 
30)  Facing  the  East,  Rahul  turned  left  and walked  10 
metre, then he turned to his left again and walked 10 
metre.  He  then  turned  towards  his  right  and  went 
straight to cover 25 metre. In which direction is he from 
his starting point? 
a) South–West  b) North–East 
c) North–West  d) South–East 
 
31)  Babu  is  Rahim’s  neighbour  and  his  house  is  200 
metres  away  in  the  north  west  direction.  Joseph  is 
Rahim’s neighbour and his house is located 200 metres 
away  in  the  south  west  direction.  Gopal  is  Joseph’s 
neighbour and he stays 200 metres away in the south 
east direction. Roy is Gopal’s neighbour and his house 
is located 200 metres away in the north east direction. 
Then where is the position of Roy’s house in relation to 
Babu’s ? 
a) North  b) South west 
c) South east  d) North east 
 
32) Pranav went 10 km to the North. Then he turned 
West  and  covered  10 km. Then  he  turned  south  and 
covered 5 km. Finally, he turned to the East and 
covered  10  km.  In  which  direction  he  is  from  the 
starting point? 
a) East   b) North 
c) South  d) West 
 
33)  Priya  starts  running  in  west  direction  and  after 
some  distance  she  turns  to  her  left  and  cover  some 
distance. After this she took a left turn and then again 
left turn and run some distance. After that she took a 
right turn and finally a left turn. Now in which direction 
she is running. 
a) south  b) north 
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c) west    d) east 
e) None of these 
 
34) Laxman went 15 km to North then he turned West 
and covered 10 kms. Then he turned South and 
covered  5  kms.  Finally  turning  to  East  he  covered 10 
kms. In which direction he is from his house? 
a) North  b) West 
c) East   d) South 
 
35) Village A is south of village B and north of village D, 
which is in east of village E. Village E is west of village 
C. Village F is between C and D anywhere. Village F is 
north  west  of  village  G  which  direction  of  village  G 
respect of village B? 
a) North-west  b) North-east 
c) South-west  d) South-east 
e) Cannot be determined 
 
36) Raman starts walking in the morning facing the Sun. 
After sometime, he turned to the left. Later again he 
turned to his left. At what direction is Raman moving 
now ? 
a) South  b) West 
c) East   d) North 
 
37) A person starts walking in north direction and after 
walking some distance he turns to 45 degree in 
clockwise direction. After that he turns 180 degree anti 
clockwise and again 45 degree in clockwise direction. 
Now in which direction he is walking 
a) east  b) west  c) south 
d) north e) None of these 
 
38) Riya starts walking in the north direction and after 
walking some distance she took a left turn followed by 
a right turn. After that she took two consecutive left 
turn, now she is walking in which direction? 
a) north b) south c) west   
d) east   e) None of these 
 

39) Sheetal started from point in South direction. After 
walking for 5 km she took a right turn. Now she walked 
another 5 km and took a left turn. Then after walking 
for 2 km she took a right turn. After covering more 2 
km she turned 45o in clockwise direction. She is facing 
which direction now? 
a) South East  b) South West 
c) North West  d) North East 
e) None of these 
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